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Dip. in Engg. (Third Semester)
EXAMINATION, 2021
(Branch : ET & T)

(Scheme : New) N)TTTR
DIGITAL ELECTRONICS

Time : Three Hours ] [ Maximum Marks : 70
[Minimum Pass Marks : 25
Note : All questions-are compulsory, unless  mentioned

otherwise. Internal choices are given. In case of any
doubt or dispute, the English version question
should be treated as final.
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L (a), Convert the following : 1 each
@) (246.52)s = (o

P.7.0.



(b)
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(i) (2F9A)s — ()2
(iif) Multiply (1011), and (101 ‘10)2
(iv) (458D.2C3)16 — ()10

W) Conver; the binary no. 101011 into grey
code. g

=i @ g Hifv :

) (246.52) - (o

(i), (2F9A)s — ()2

,(iiij T BINTY (1011), and (10110),

(iv) (458D.2C3)5,—> ()10

(v) TS WS 101011 3 A B A
- wEfeg

Attempt any two of the following : 4.5 each

(i) - Perform the following substraction in XS-3

code using 10’s complement :
246 -592. d

(i) What do you mean by parity bit ? With the
help of an example explain hamming code in
detail.

(iii) Perform the following Binary division : /

110101.11, by 101,
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frferaa § & 58l <t ool @ TR R

() T q T ARl B 10°s DT @M
ST PP XS-3 DS ¥ TR :

" 246-592.
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(i) TR ATHS P :

110101.11, &Y 101,

2. (a If

y=A+BC(A+C)+B,
then what is the value of y if A=0,B =1,
Cc=1. 2
i y=A+BC(A+C)+B, T A=0,

B=1,C=1, @ y & 9 a5V

(b) For the following switching circuit, find out the

value of Y in terms of A& B : 2

b e
i
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(c) Attempt any one of the following : 10
fr=feRea & | &0 1@ a1 SW é’lﬁm

(i) Minimize the following function using
K-map and realize using NAND gate only :

F=2m(1,2,4,591213)+d(0,6,8,14)
frefifeg @9d @ k-map B WERT §
W X dad NAND e & W &
ERIEL

F=3m(1,2,4,5,9,12, 13)+d(0, 6,8, 14)

(i) What is Universal Gate ? Realize all basic
gates using universal gate.
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What do you mean by multiplexing and
demultiplexing ? Why demultiplexer is called a

‘data &istributor ? Explamn with the help of an

example. 4

HeIelfeRT vd RfeewifdRmT & o @ W
§ ? fAfee®R o ser ey & o
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Attempt any one of the following : ‘ 10

feforia § & fooel 1@ &1 & PIfo -

(i) Implement the following Boolean function

using 8 x 1 multiplexer :
FP,QR,8)=2m(0,1,3,4,8,9,15)

8§ X 1 ARCER I ISP IR
Rrefefed R B @) & B -
FP,QR,S8)=2m (0, 1,3,4,8,9,15)

(i) Design and implement 4-bit magnitude

comparator.

4-bit ACYS TN T ﬁﬁm wd
P TS |
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4, (a) WhatisRace Around condition in J-K flip-flop ?

®)

©

2
1K Rre-geitd ¥ ¥ RSTS BT w18 ?
Draw the logic diagram of 4-bit Johnson counter
using J-K flip-flop. 2
JK F/F &1 SRR ax9 4-Re ST Sever
P Siford SIEUM FET )

Attempt any one of the following : 10

frefaRe 3 & 5 U@ 1 SR A

(i) What is flip-flop ? E)Eplain the operation of
clocked R-S flip-flop using NAND gate with

waveform.

fRrev-gelly ¥ o T WEW § ? ks

'R-Sﬁaq-ﬁqaﬁmﬁﬁﬁNANDﬂEW'
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(i) Draw and implement a Mod-10
asynchronous counter using T flip-flop and
timing diagram. i

Mod-10 TR deR o1 fag-1e
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(b)
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Draw the block diagram of R-2R Ladder type
DAC. 2

'R-2R X TEU DAC &1 <ifd S Y |
Write short note on any one of the following : 2
(i) EPROM and Static ROM
(ii) Magnetic tape and magnetic drum
frafafeg & @ 50 & w wfa Ruoh
forfaw -

(i) EPROM and Static ROM

(i) AWfed v & AWke gv
Attempt any onre of the following : 10
Frefefem # @ foel 9@ a1 S Ao -

(i) Compare TTL, RTL, DTL, ECL and CMOS

with any 5 characteristics.
TTL RTL, DTL, ECL U4 CMOS & g
g O @ ger A |

(i) What do you mean by shift register ?

Explain the type of registers with the help of
block diagram.
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